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1 The function f is such that f ′�x� = 5 − 2x2 and� 3, 5� is a point on the curve y = f�x�. Find f�x�. [3]

2
dy

dx
= �2x + 1�

1
2 and the point �4, 7� lies on the curve. Find the equation of theA curve is such that

curve. [4]

3 A curve is such that
dy

dx
=

12��4x + a� , where a is a constant. The point P �2, 14� lies on the curve and

the normal to the curve at P is 3y + x = 5.

[3](i) Show that a = 8.

(ii) Find the equation of the curve. [4]

4 The equation of a curve is y =
2��5x − 6� .

(i) Find the gradient of the curve at the point where x = 2. [3]

(ii) Find Ô
2��5x − 6� dx and hence evaluate Ô

3

2

2��5x − 6� dx. [4]

5 A curve is such that
dy

dx
=

6

x2
and �2, 9� is a point on the curve. Find the equation of the curve. [3]

6 A curve is such that
dy

dx
=
��2x + 5� and �2, 5� is a point on the curve. Find the equation of the curve.

[4]

7 Find the term independent of x in the expansion of (2x + 1

x2
)6

. [3]
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8 Find ä (x3 + 1

x3
) dx. [3]

9 (a) Differentiate
2x3 + 5

x
with respect to x. [3]

(b) Find ã (3x − 2)5 dx and hence find the value of ã
1

0

(3x − 2)5 dx. [4]

10
dy
dx

A curve is such that

the curve.

= 2x2 − 5. Given that the point (3, 8) lies on the curve, find the equation of

[4]




